
Complexe getallen voorstelllen in het compexe vlak

p. 1

Oefening 1.

1. 𝑧1 = 3 + 4𝑖 ……

2. 𝑧2 = 5
(

cos
(𝜋
4

)

+ 𝑖 sin
(𝜋
4

))

……

3. 𝑧3 = −2 + 𝑖 ……

4. 𝑧4 =
√

5
(

cos
(

tan−1
(−1

2

))

+ 𝑖 sin
(

tan−1
(−1

2

)))

……

5. 𝑧5 = 5 ……

6. 𝑧6 = 5 (cos(0) + 𝑖 sin(0)) ……

7. 𝑧7 = −3 − 4𝑖 ……

8. 𝑧8 = 5
(

cos
(

𝜋 + tan−1
(4
3

))

+ 𝑖 sin
(

𝜋 + tan−1
(4
3

)))

……

9. 𝑧9 = 2 − 2𝑖 ……

10. 𝑧10 = 2
√

2
(

cos
(−𝜋

4

)

+ 𝑖 sin
(−𝜋

4

))

……

Oefening 2.

1. 𝑧1 = 1 + 𝑖 ……

2. 𝑧2 =
√

2
(

cos
(𝜋
4

)

+ 𝑖 sin
(𝜋
4

))

……

3. 𝑧3 = −1 ……

4. 𝑧4 = 1 (cos(𝜋) + 𝑖 sin(𝜋)) ……

5. 𝑧5 = 0 + 5𝑖 ……

6. 𝑧6 = 5
(

cos
(𝜋
2

)

+ 𝑖 sin
(𝜋
2

))

……

7. 𝑧7 = −4 + 0𝑖 ……

8. 𝑧8 = 4 (cos(𝜋) + 𝑖 sin(𝜋)) ……

9. 𝑧9 = 3𝑖 ……

10. 𝑧10 = 3
(

cos
(𝜋
2

)

+ 𝑖 sin
(𝜋
2

))

……

Oefening 3.

1. 𝑧1 = 4 + 0𝑖 ……

2. 𝑧2 = 2
(

cos
(𝜋
2

)

+ 𝑖 sin
(𝜋
2

))

……

3. 𝑧3 = 0 + 2𝑖 ……

4. 𝑧4 = 4 (cos(0) + 𝑖 sin(0)) ……

5. 𝑧5 = −2 − 3𝑖 ……

6. 𝑧6 =
√

13
(

cos
(

𝜋 + tan−1
(3
2

))

+ 𝑖 sin
(

𝜋 + tan−1
(3
2

)))

……
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Complexe getallen voorstelllen in het compexe vlak

p. 2

7. 𝑧7 = 1 − 3𝑖 ……

8. 𝑧8 =
√

10
(

cos
(

tan−1
(−3

1

))

+ 𝑖 sin
(

tan−1
(−3

1

)))

……

9. 𝑧9 = 2 + 0𝑖 ……

10. 𝑧10 = 2 (cos(0) + 𝑖 sin(0)) ……

Oefening 4.

1. 𝑧1 = −1 + 0𝑖 ……

2. 𝑧2 =
√

20
(

cos
(

tan−1
( 2
−4

))

+ 𝑖 sin
(

tan−1
( 2
−4

)))

……

3. 𝑧3 = −4 + 2𝑖 ……

4. 𝑧4 = 1 (cos(𝜋) + 𝑖 sin(𝜋)) ……

5. 𝑧5 = 0 + 4𝑖 ……

6. 𝑧6 = 4
(

cos
(𝜋
2

)

+ 𝑖 sin
(𝜋
2

))

……

7. 𝑧7 = 3 + 0𝑖 ……

8. 𝑧8 = 3 (cos(0) + 𝑖 sin(0)) ……

9. 𝑧9 = −5 + 5𝑖 ……

10. 𝑧10 = 5
√

2
(

cos
(3𝜋

4

)

+ 𝑖 sin
(3𝜋

4

))

……
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